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QUESTION 91
Which two design option are available to dynamically discover the RP in an IPv6 multicast network? (Choose two)

embedded RP
MSDP

BSR

Auto-RP

MLD

moow»

Answer: AC

QUESTION 92

Company A has a hub-and spoke topology over an SP-managed infrastructure. To measure traffic performance
metrics. IP SLA senders on all spoke CE routers and an IP SLA responder on the hub CE router.

What must they monitor to have visibility on the potential performance impact due to the constantly increasing number
of spoke sites?

memory usage on the hub router

interface buffers on the hub and spoke routers
CPU and memory usage on the spoke routers
CPU usage on the hub router

o0w»

Answer: D

QUESTION 93
Which two descriptions of CWDM are true? (Choose two)

A. typically used over long distances, but requires optical amplification
B. uses the 850nm band

C. allows up to 32 optical earners to be multiplexed onto a single fiber
D. shares the same transmission window as DWDM

E. Passive CWDM devices require no electrical power

Answer: DE

QUESTION 94

SDWAN networks capitalize the usage of broadband Internet links over traditional MPLS links to offer more cost
benefits to enterprise customers. However, due to the insecure nature of the public Internet, it is mandatory to use
encryption of traffic between any two SDWAN edge devices installed behind NAT gateways.

Which overlay method can provide optimal transport over unreliable underlay networks that are behind NAT gateways?
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TLS
DTLS
IPsec
GRE
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Answer: C

QUESTION 95
Company XYZ runs OSPF in their network. A design engineer decides to implement hot-potato routing architecture.
How can this implementation be achieved?

A. Enable iBGP and apply prepend to ensure all prefixes will have the same length of the AS path
attribute value.

B. Redistribute the external prefixes onto OSPF and ensure the total metric calculation includes only
the ext value and the value is the same in all ASBRs.

C. Enable OSPF load-balancing over unequal cost path.

D. Redistribute the external prefixes onto OSPF and ensure that the total metric calculation includes
external internal values.

Answer: D

QUESTION 96
What are two primary design constraints when a robust infrastructure solution is created? (Choose two.)

monitoring capabilities
project time frame
staff experience
component availability
total cost

moow»

Answer: BE

QUESTION 97

SD-WAN can be used to provide secure connectivity to remote offices, branch offices, campus networks, data centers,
and the cloud over any type of IP-based underlay transport network. Which two statements describe SD WAN
solutions? (Choose two.)

SD-WAN networks are inherently protected against slow performance.

Control and data forwarding planes are kept separate.

Improved operational efficiencies result In cost savings.

Solutions include centralized orchestration, control, and zero-touch provisioning.
Solutions allow for variations of commodity and specialized switching hardware.

moow»

Answer: BD

QUESTION 98

An architect designs a multi-controller network architecture with these requirements:

- Achieve fast failover to control traffic when controllers fail.

- Yield a short distance and high resiliency in the connection between the switches and the controller.
- Reduce connectivity loss and enable smart recovery to improve the SDN survivability.

- Improve connectivity by adding path diversity and capacity awareness for controllers.

Which control plane component of the multi-controller must be built to meet the requirements?

A. control node reliability
B. controller stale consistency
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C. control path reliability
D. controller clustering

Answer: B

QUESTION 99

Company XYZ is planning to deploy primary and secondary (disaster recovery) data center sites. Each of these sites
will have redundant SAN fabrics and data protection is expected between the data center sites. The sites are 100 miles
(160 km) apart and target RPO/RTO are 3 hrs and 24 hrs, respectively. Which two considerations must Company XYZ
bear in mind when deploying replication in their scenario? (Choose two.)

A. Target RPO/RTO requirements cannot be met due to the one-way delay introduced by the
distance between sites.

B. VSANs must be routed between sites to isolate fault domains and increase overall availability.

C. Synchronous data replication must be used to meet the business requirements

D. Asynchronous data replication should be used in this scenario to avoid performance impact in the
primary site.

E. VSANs must be extended from the primary to the secondary site to improve performance and
availability.

Answer: BD

QUESTION 100
Which undesired effect of increasing the jitter compensation buffer is true?

The overall transport jitter decreases and quality improves.

The overall transport jitter increases and quality issues can occur.
The overall transport delay increases and quality issues can occur.
The overall transport delay decreases and quality improves.
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Answer: C

QUESTION 101
Which three tools are used for ongoing monitoring and maintenance of a voice and video environment? (Choose three.)

flow-based analysis to measure bandwidth mix of applications and their flows
call management analysis to identify network convergence-related failures

call management analysis to identify CAC failures and call quality issues

active monitoring via synthetic probes to measure loss, latency, and jitter
passive monitoring via synthetic probes to measure loss, latency, and jitter
flow-based analysis with PTP time-stamping to measure loss, latency, and jitter

mTmoow>

Answer: ACD

QUESTION 102
Which two advantages of using DWDM over traditional optical networks are true? (Choose two.)

A. inherent topology flexibility and service protection provided without penalty through intelligent
oversubscription of bandwidth reservation

ability to expand bandwidth over existing optical Infrastructure
inherent topology flexibility with built-in service protection
inherent topology flexibility with intelligent chromatic dispersion

inherent topology flexibility with a service protection provided through a direct integration with an
upper layer protocol

moow

400-007 Exam Dumps 400-007 Exam Questions 400-007 PDF Dumps 400-007 VCE Dumps

https://www.braindump2go.com/400-007.html



https://www.braindump2go.com/
https://www.braindump2go.com/
https://www.braindump2go.com/400-007.html
https://www.braindump2go.com/400-007.html
https://www.braindump2go.com/400-007.html
https://www.braindump2go.com/400-007.html
https://www.braindump2go.com/400-007.html
https://www.braindump2go.com/
https://www.braindump2go.com/

Fist Try, First s Braindump2go Guarantee All Exams 100% Pass

@Brahdung@@

One Time!
Answer: BC

QUESTION 103
Retef to the exhibit. This network is running OSPF and EIGRP as the routing protocols. Mutual redistribution of the
routing protocols has been contoured on the appropriate ASBRs. The OSPF network must be designed so that flapping
routes in EIGRP domains do not affect the SPF runs within OSPF. The design solution must not affect the way EIGRP
routes are propagated into the EIGRP domains.
Which technique accomplishes the requirement?

route summarization the ASBR interfaces facing the OSPF domain
route summarization on the appropriate ASBRS.

route summarization on the appropriate ABRS.

route summarization on EIDRP routers connecting toward the ASBR

oow»

Answer: B

QUESTION 104

Company XYZ is running OSPF in their network. They have merged with another company that is running EIGRP as
the routing protocol. Company XYZ now needs the two domains to talk to each other with redundancy, while
maintaining a loop free environment.

The solution must scale when new networks are added into the network in the near future.

Which technology can be used to meet these requirements?

multipoint route-redistribution with route filtering using ACLs

DUMP multipoint route-redistribution with route filtering using route tags
DUMPS single point route-redistribution with route filtering using route tags
DUMPS single point route-redistribution with route filtering using ACLs
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Answer: B

QUESTION 105

Company XYZ is in the process of identifying which transport mechanism(s) to use as their WAN technology.

Their main two requirements are.

- a technology that could offer DPI, SLA, secure tunnels, privacy, QoS, scalability, reliability, and ease of management
- a technology that is cost-effective

Which WAN technology(ies) should be included in the design of company XYZ?
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A. Software-defined WAN should be the preferred choice because it complements both
technologies, covers all the required features, and it is the most cost-effective solution.

B. Internet should be the preferred option because it is cost effective and supports BFD, IP SLA. and
IPsec for secure transport over the public Internet.

C. Both technologies should be used. Each should be used to back up the other one; where the
primary links are MPLS, the internet should be used as a backup link with IPsec (and vice versa).

D. MPLS meets all these requirements and it is more reliable than using the Internet. It is widely
used with defined best practices and an industry standard.

Answer: A

QUESTION 106
Which MPLS TE design consideration is true?

A. MPLS TE replaces LDP and the dependency of the IGP to identify the best path.
B. MPLS TE provides link and node protection

C. MPLS TE optimizes the routing of IP traffic, given the constraints imposed by backbone capacity
and application requirements.
D. MPLS TE requires Layer 3 VPN full-mesh topology deployment

Answer: C

QUESTION 107
The network designer needs to use GLOP IP address in order make them unique within their ASN, which multicast
address range will be considered?

239.0.0.0 to 239.255.255.255
224.0.0.0 to 224.0.0.255

233.0.0.0 to 233.255.255.255
232.0.0.0 to 232.255.255.255
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Answer: C

QUESTION 108
Drag and Drop Question
Drag and drop the multicast protocols from the left onto the current design situation on the right.

Answer:
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QUESTION 109
Drag and Drop Question
Drag and drop the end-to-end network virtualization elements from the left onto the correct network areas on the right.

Answer:
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QUESTION 110
Which two data plane hardening techniques are true? (Choose two)

warning banners

redundant AAA servers
Control Plane Policing
SNMPvV3

infrastructure ACLs

disable unused services
routing protocol authentication

OTMoOO® >

Answer: EF
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